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Sumay resta (horizontal)

Nombre;

Resuelve cada problema.

El) 26+21= 47

1) 23-11=

2 14+3=

3)

4) 498 +85=

5)

6) 480 + 216 =

7) 40-7=

8 3+2=

9 24-9=

10) 3+1=

11) 37-3=

12) 6+4=

Respuestas

. 47

10.

11.

12.

1-10
11-12

10
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Sumay resta (horizontal)

Nombre: Clave De Respuestas

Resuelve cada problema.

Ei) 26+21= 47
) 23-11= 12
2 14+3= 17
3 4-2= 2

4) 498 +85= 583

5) 6-2= 4

6) 480+ 216 = 696

7) 40-7= 33
8 3+2= 5
9 24-9= 15
10) 3+1= 4
11) 37-3= 34
12) 6+4= 10

Respuestas

Ei. 47
1 12
2 17
3. 2
4. 583
5 4
6. 696
7 33
8 5
9. 15
10. 4
11. 34
12 10
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Sumay resta (horizontal)

Nombre;

Resuelve cada problema.

Respuestas

{

5 2 12
17 4 15

696
33

4
583 . a7

EJj)

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

26+21= a7

23-11=

14+ 3=

498 + 85 =

480 + 216 =

40-7=

3+2=

24-9=

3+1=

10.

Lot M odificado
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